MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Intent to Award- Tara 20 Force Main Replacement (IFB #13- 1198CD)	DATE POSTED	Date Posted on Mymanatee.org 7/8//3 8Mg
PURCHASING REPRESENTATIVE	Chris Daley, 749-3048	DATE CONTRACT SHALL BE AWARDED	Seven days after the date posted
DEPARTMENT	Public Works / Brian Bates	CONSEQUENCES IF DEFERRED	Delay in project
SOLICITATION	IFB# 13-1198CD	AUTHORIZED BY DATE	Melissa Wendel, CPPO, Purchasing Official JuneJuly 8 2013

NOTICE OF INTENT TO AWARD

Notice of Intent to Award Invitation For Bid # 13-1198CD, Tara 20 Force Main Replacement, to the lowest responsive and responsible bidder, Spectrum Underground, Inc. of Sarasota, FL for a total base bid of \$988,515.75 (Bid "B", 240 calendar days).

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.)

Manatee County Code of Law

BACKGROUND/DISCUSSION

• The Work consists of the construction of approximately 3000 linear feet of 24 inch force main from the Tara 20 lift station to the existing 36" force main as shown on the plans, including but not limited to: a steel jack & bore casing in FDOT right-of-way, PVC DR 18 C905 pipe, pipe and fitting restraints, ductile iron fittings, dewatering, support and/or removal and replacement of existing storm drains, gravity sewer, and other utilities as necessary, valves, road repair, surface restoration, and all associated labor, equipment, and materials. Formal, competitive sealed bid procedures were followed resulting in a total of ten (10) bidders submitting a sealed bid for consideration:

Manatee County Woodruff & Sons Westa Construction E.T. MacKenzie of Florida	Bid A (300 days) \$1,116,469.58 \$1,365,665.00 \$1,372,875.00	Bid B (240 days) \$1,175,705.88 \$1,365,665.00 No Bid
Sarasota County Spectrum Underground, Inc	. \$ 988,515.75	\$ 988,515.75
Hillsborough County Adkins Contracting, Inc. Harris-McBurney Company	\$ 871,640.94 \$1,026,301.00	\$ 871,640.94 \$1,026,301.00
Collier County Quality Enterprises USA	\$1,022,216.85	\$1,020,671.85
Miami-Dade County Metro Equipment Service	\$1,167,756.00	\$1,167,756.00
Palm Beach County Danella Utility Construction	\$1,463,099.00	\$1,463,099.00
<u>Duval County</u> TB Landmark Construction	\$1,234,736.00	\$1,234,736.00

- The apparent low bidder, Adkins Contracting, Inc., submitted a letter requesting to withdraw their bid on May 9, 2013.
- June 12, 2013, a memorandum was received from Public Works Department recommending award to Spectrum Underground, Inc. of Sarasota, FL for a total base bid of \$988,515.75 with a 240 calendar day completion time (Bid "B").

ATTACHMENTS: (List in order as attached)	AUTHORIZATION TO DO BUSINESS IN FLORIDA: <u>YES</u> VERIFICATION OF LICENSE: <u>YES</u>
Department Recommendation Bid Tabulation	
COST \$988,515.75	FUNDING SOURCE (ACCT# & NAME) Utilities 2010C Revenue Improvement Bonds 4156079880-534000/6079880-0004- SEWER: Tara Blvd Force Main

MEMORANDUM

PUBLIC WORKS DEPARTMENT

Project Management 1022-26th Avenue E. Bradenton, FL 34208



Phone: 941-708-7450 Fax: 941-708-7549 www.mymanatee.org

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management Division Manager

Date:

June 12, 2013

Subject:

Tara 20 Force Main Replacement

Spectrum Underground, Inc.

Recommendation for Award - IFB # 13-1198-CD

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. Because the low bidder Adkins Contracting, Inc. requested their bid be withdrawn from consideration it is recommended that the contract Bid B, with a construction time of 240 days be awarded to the second lowest responsive, responsible bidder, Spectrum Underground, Inc. in the amount of \$988,515.75 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utilities 2010C Revenue Improvement Bonds.

Please contact Brian P. Bates, P.E., Project Engineer if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/bb t,b

cc: Daniel T. Gray, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Jim Stockwell, P.E., Project Engineer

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 415-6079880 9.2

Adkins Contracting, Inc. Spectrum Underground, In Quality Enterprises USA Harris-McBurney Company Woodruff & Sons, Inc. Spectrum Underground, Inc. Sp				2	1	NO.	
Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570 Spectrum Underground, In 3984 Mannix Dr., #216 Ruskin, FL 33570 Harris-McBurney Compan 2120 North US HWY 301 P.C 3120 North US HWY 3	Bid Bond	Acknowledge Addendum #2	Acknowledge Addendum #1	Bid "B" Based on Completion Time of 240 Calendar Days	Bid "A" Based on Completion Time of 300 Calendar Days	DESCRIPTION	BID SUMMARY
Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570 Spectrum Underground, In 3984 Mannix Dr., #216 Ruskin, FL 33570 Harris-McBurney Compan 2120 North US HWY 301 P.C 3120 North US HWY 3				LS	LS	UNITS	
Harris-McBurney Compan Wo 2120 North US HWY 301 P.C Tampa, FL 33619 Bra 51,026,301.00 \$1,026,301.00 Yes Yes				1	1	QTY.	
Harris-McBurney Compan Wo 2120 North US HWY 301 P.C Tampa, FL 33619 Bra 51,026,301.00 \$1,026,301.00 Yes Yes	Yes	Yes	Yes	\$871,640.94	\$871,640.94	TOTAL BID PRICE	Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570
Harris-McBurney Compan Wo 2120 North US HWY 301 P.C Tampa, FL 33619 Bra 51,026,301.00 \$1,026,301.00 Yes Yes	Yes	Yes	Yes	\$988,515.75	\$988,515.75	TOTAL BID PRICE	Spectrum Underground, In 1876-B Barber Rd, #200 Sarasota, FL 34240
Harris-McBurney Compan Wo 2120 North US HWY 301 P.C Tampa, FL 33619 Bra 51,026,301.00 \$1,026,301.00 Yes Yes	Ye	Υ.	Ye	\$1,020,671.85	\$1,022,216.85	TOTAL BID PRI	Quality Enterprises U 3984 Mannix Dr., #21 Naples, FL 34114
Harris-McBurney Company Woodruff & Sons, Ir 2120 North US HWY 301 P.O Box 10127 P.O Box 10127 P.O Box 10127 P.O Box 10127 Bradenton, FL 3428 TOTAL BID PRICE TOTAL BID PRI \$1,026,301.00 \$1,115,705.88 Yes Yes Yes	es	se	es			CE	
ney Compan, Woodruff & Sons, Ir S HWY 301 P.O Box 10127 Bradenton, FL 3428 TOTAL BID PRI 301.00 \$1,115,705.88 Yes Yes Yes Ye				\$1,026,	\$1,026,	TOTAL B	Harris-McBur 2120 North U Tampa, FL 33
Woodruff & Sons, Ir P.O Box 10127 Bradenton, FL 3428 TOTAL BID PRI \$1,115,705.88 Ye	Yes	Yes	Yes	301.00	301.00	ID PRICE	ney Compan S HWY 301 1619
Sons, Ir 127 12 3428 3JD PRI 5,469.58 5,705.88 Ye				\$1,175	\$1,116	TOTAL E	Woodruff & : P.O Box 101 Bradenton, F
S S S S S S S S S S S S S S S S S S S	Yes	Yes	Yes	5,705.88	3,469.58	3ID PRICE	Sons, Inc. 27 L 34282

	Keyed and Checked By
Chris Daley-CPPB, Contract Specialsit	lw
Date	5/13/2013

***	***	****			-	1
			2	_	NO.	
Bid Bond	Acknowledge Addendum #2	Acknowledge Addendum #1	Bid "B" Based on Completion Time of 240 Calendar Days	Bid "A" Based on Completion Time of 300 Calendar Days	DESCRIPTION	BID SUMMARY
			rs	rs	UNITS QTY.	Ē
			1	1	QTY.	
Yes	Yes	Yes	\$1,167,756.00	\$1,167,756.00	TOTAL BID PRICE	Metro Equipment Service TB Landmark Construction Westra Construction 9415 SW 72 St. 11220 New Berlin Rd. 1263 12th Ave. E. Miami, FL 33173 Jacksonville, FL 32226 Palmetto, FL 34221
Yes	Yes	Yes	\$1,234,736.00	\$1,234,736.00	TOTAL BID PRICE	TB Landmark Constructio 11220 New Berlin Rd. Jacksonville, FL 32226
Yes	Yes	Yes	\$1,365,665.00	\$1,365,665.00	TOTAL BID PRICE	Mestra Construction 1263 12th Ave. E. Palmetto, FL 34221
Yes	Yes	Yes	No Bid	\$1,372,875.00	TOTAL BID PRICE	E.T. MacKenzie of Florida Danella Utility Construction 6212 44rd Street East 170 Commerce Rd. Bradenton, FL 34203 Boynton Beach, FL 33426
			\$1,463,099.00	\$1,463,099.00	TOTAL BID PRICE	Danella Utility Construction 170 Commerce Rd. Boynton Beach, FL 33426
Yes	Yes	Yes	99.00	99.00	PRICE	Construction Rd.

Keyed and Checked By

Chris Daley-CPPB, Contract Specialsit

Date

5/13/2013

				 	IFB #13-1198CD-	l	AXA 40 FORCE MAIN KETLACEMEN	IN KETLA	PEMENI				**************************************
	Bid "A" Based on Completion Time of 300 Calendar Days			Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570	racting, Inc. ity Road 33570	Spectrum Underground, 1876-B Barber Rd, #200 Sarasota, FL 34240	Spectrum Underground, In Quality Enterprises USA 1876-B Barber Rd, #200 3984 Mannix Dr., #216 Sarasota, FL 34240 Naples, FL 34114	Quality Enterprises US 3984 Mannix Dr., #216 Naples, FL 34114	erprises USA ix Dr., #216 34114	Harris-McBurney (2120 North US HV Tampa, FL 33619	Company VY 301	Woodruff & Sons, Inc P.O Box 10127 Bradenton, FL 34282	Sons, Inc. 127 FL 34282
ITEM NO.	DESCRIPTION	SLINN	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE	PRICE PER UNIT	TOTAL BID PRICE	PRICE PER UNIT	TOTAL BID PRICE
->	24" PVC Force Main C905 (Direct Bury) DR18	Fi	2,550	\$97.62	\$248,931.00 \$112.50	\$112.50	\$286,875.00	\$108.36	\$276,318.00	\$103.40	\$263,670.00	\$118.13	\$301,231.50
2	36" Steel Casing, Jack & Bore 0.500" wall	두	480	\$361.63	\$173,582.40 \$381.00	\$381.00	\$182,880.00	\$419.05	\$201,144.00	\$497.00	\$238,560.00	\$495.19	\$237,691.20
3	24" DI Force Main Class 350 (Direct Bury)	LF	50	\$236.90	\$11,845.00	\$299.00	\$14,950.00	\$277.98	\$13,899.00	\$296.00	\$14,800.00	\$246.62	\$12,331.00
4	24" Fusible PVC Force Main C905 DR 18	두	515	\$163.89	\$84,403.35	\$206.75	\$106,476.25	\$169.59	\$87,338.85	\$177.00	\$91,155.00	\$215.74	\$111,106.10
5	24" Pipe Restraints	EA	50	\$464.53	\$23,226.50	\$1,045.00	\$52,250.00	\$575.00	\$28,750.00	\$1,143.00	\$57,150.00	\$434.27	\$21,713.50
6	24" Tapping Valve & Sleeve	EΑ		\$23,791.67	\$23,791.67	\$22,875.00	\$22,875.00	\$25,058.50	\$25,058.50	\$28,142.00 \$28,142.00	\$28,142.00	\$31,725.83 \$31,725.83	\$31,725.83
7	DI Fittings, Wastewater (Non- Compact)	LB	19,000	\$3.75	\$71,250.00	\$4.26	\$80,940.00	\$4.66	\$88,540.00	\$2.20	\$41,800.00	\$3.34	\$63,460.00
8	Connect to Exist. Force Main	EA	2	\$3,359.96	\$6,719.92	\$1,965.00	\$3,930.00	\$2,017.10	\$4,034.20	\$15,633.00 \$31,266.00	\$31,266.00	\$11,507.38 \$23,014.76	\$23,014.76
9	Traffic Control to FDOT Standards	LS	_	\$7,450.00	\$7,450.00	\$1,820.00	\$1,820.00	\$16,962.50	\$16,962.50	\$1,600.00	\$1,600.00	\$2,227.47	\$2,227.47
10	Sodding	SY	3,200	\$3.20	\$10,240.00	\$2.30	\$7,360.00	\$2.88	\$9,216.00	\$4.20	\$13,440.00	\$2.37	\$7,584.00
<u> </u>	Seeding	SY	3,000	\$1.20	\$3,600.00	\$1.15	\$3,450.00	\$0.86	\$2,580.00	\$1.50	\$4,500.00	\$1.24	\$3,720.00
12	Air Release Valve incl. manhole	EA	2	\$3,505.00	\$7,010.00	\$5,956.00	\$11,912.00	\$6,337.65	\$12,675.30	\$5,276.00	\$10,552.00	\$8,507.10	\$17,014.20
13	Asphalt Road Restoration (Base & Resurface)	ΥS	150	\$38.60	\$5,790.00	\$38.90	\$5,835.00	\$34.50	\$5,175.00	\$69.30	\$10,395.00	\$91.08	\$13,662.00
14	Asphalt Road Restoration (Mill & Resurface)	SY	550	\$29.50	\$16,225.00	\$17.90	\$9,845.00	\$26.45	\$14,547.50	\$16.20	\$8,910.00	\$28.60	\$15,730.00
15	Concrete Sidewalk Replacement	SY	130	\$33.70	\$4,381.00	\$31.35	\$4,075.50	\$34.50	\$4,485.00	\$58.30	\$7,579.00	\$30.86	\$4,011.80
16	Curb & Gutter Replacement	듀	300	\$18.20	\$5,460.00	\$18.70	\$5,610.00	\$17.25	\$5,175.00	\$18.70	\$5,610.00	\$22.63	\$6,789.00

	24	23	22	21	20	19	18	17	NO.]
TOTAL PRICE FOR BID "A" - Based on Completion Time of 300 Calendar Days	24" Gate Valve	DISCRETIONARY WORK (USED ONLY WITH COUNTY APPROVAL)	Miscellaneous Work & Clean Up	Mobilization (maximum 10% of total bid)	Silt Fence and Erosion Control	Concrete Driveway Restoration	Miscellaneous Concrete	Remove and Install/Replace Storm Drains	DESCRIPTION	Bid "A" Based on Completion Time of 300 Calendar Days
	EA	rs.	LS	LS	LS	SY	СУ	LS	UNITS	
	-		1	4	1	20	30	1	QTY.	
	\$14,772.20		\$8,732.00	\$22,792.90	\$8,400.00	\$59.40	\$351.00	\$4,400.00	BID PRICE PER UNIT	Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570
\$871,640.94	\$14,772.20 \$14,772.20	\$96,920.00	\$8,732.00	\$22,792.90	\$8,400.00	\$1,188.00	\$10,530.00	\$4,400.00	BID PRICE TOTAL BID PER UNIT PRICE	tracting, Inc. ity Road 33570
	\$16,142.00		\$3,300.00	\$52,376.00	\$6,172.00	\$48.60	\$165.00	\$6,600.00	BID PRICE PER UNIT	Spectrum Underground, 1876-B Barber Rd, #200 Sarasota, FL 34240
\$988,515.75	\$16,142.00	\$96,920.00	\$3,300.00	\$52,376.00	\$6,172.00	\$972.00	\$4,950.00	\$6,600.00	TOTAL BID PRICE	Spectrum Underground, In 1876-B Barber Rd, #200 Sarasota, FL 34240
	\$17,848.00		\$5,175.00	\$88,435.00	\$9,775.00	\$57.50	\$230.00	\$115.00	BID PRICE PER UNIT	Quality Enterprises USA 3984 Mannix Dr., #216 Naples, FL 34114
\$1,022,216.85	\$17,848.00	\$96,920.00	\$5,175.00	\$88,435.00	\$9,775.00	\$1,150.00	\$6,900.00	\$115.00	TOTAL BID PRICE	rprises USA (Dr., #216 (4114
	\$14,669.00		\$15,382.00	\$44,395.00	\$6,270.00	\$69.30	\$165.00	\$13,200.00	PRICE TOTAL PRICE	Harris-McBurney (2120 North US HV Tampa, FL 33619
\$1,026,301.00	\$14,669.00 \$14,669.00	\$96,920.00	\$15,382.00 \$15,382.00	\$44,395.00 \$44,395.00	\$6,270.00	\$1,386.00	\$4,950.00	\$13,200.00 \$13,200.00	TOTAL BID PRICE	Harris-McBurney Compan Woodruff & Sons, Inc. 2120 North US HWY 301 P.O Box 10127 Tampa, FL 33619 Bradenton, FL 34282
	\$16,169.07 \$16,169.07		\$44,848.25 \$44,848.25	\$33,919.92 \$33,919.92	\$6,489.40	\$65.59	\$1,054.34	\$12,168.58 \$12,168.58	PRICE TOTAL PRICE	Woodruff & Sons, Inc P.O Box 10127 Bradenton, FL 34282
\$1,116,469.58	\$16,169.07	\$96,920.00	\$44,848.25	\$33,919.92	\$6,489.40	\$1,311.80	\$31,630.20	\$12,168.58	TOTAL BID PRICE	Sons, Inc. 127 FL 34282

Keyed and Checked By

5/13/2013

Chris Daley-CPPB, Contract Specialsit

Date

			_	170#	TD # 3- 1900D-	ARA ZU T	TARA 20 FORCE MAIN REF		LACENIEN -				· · · · · · · · · · · · · · · · · · ·
	Bid "A" Based on Completion			Metro Equipment Service 9415 SW 72 St.	nent Service St.	TB Landmark Constru 11220 New Berlin Rd.	TB Landmark Construction Westra Construction 11220 New Berlin Rd. 1263 12th Ave. E.	Westra Construct 1263 12th Ave. E.	truction e. E.	E.T. MacKenzie of Flo 6212 44rd Street East	T. MacKenzie of Florida 212 44rd Street East	Danella Utility Cons 170 Commerce Rd.	Danella Utility Construction 170 Commerce Rd.
ITEM	DESCRIPTION	STINU	QTY.	BID PRICE TO	TOTAL BID	BID PRICE TOTAL BI	TOTAL BID	BID PRICE TOTA	TOTAL BID	BID PRICE TOTAL	TOTAL BID	BID PRICE TOTAL BID	TOTAL BID
_	24" PVC Force Main C905 (Direct Bury) DR18	뜌	2,550	\$109.00	\$277,950.00	\$118.00	\$300,900.00	\$130.00	\$331,500.00	\$150.00	00.00	\$201.50	\$513,825.00
2	36" Steel Casing, Jack & Bore 0.500" wall	듀	480	\$300.00	\$144,000.00	\$700.00	\$336,000.00	\$460.00	\$220,800.00	\$515.00	\$247,200.00	\$498.00	\$239,040.00
ω	24" DI Force Main Class 350 (Direct Bury)	듀	50	\$200.00	\$10,000.00	\$356.00	\$17,800.00	\$314.00	\$15,700.00	\$257.00	\$12,850.00	\$245.00	\$12,250.00
4	24" Fusible PVC Force Main C905 DR 18	듀	515	\$200.00	\$103,000.00	\$240.00	\$123,600.00	\$168.00	\$86,520.00	\$218.00	\$112,270.00	\$226.50	\$116,647.50
თ	24" Pipe Restraints	ΕA	50	\$175.00	\$8,750.00	\$755.00	\$37,750.00	\$875.00	\$43,750.00	\$1,000.00	\$50,000.00	\$688.00	\$34,400.00
6	24" Tapping Valve & Sleeve	ΕA	1	\$46,000.00	\$46,000.00	\$32,200.00	\$32,200.00	\$26,500.00	\$26,500.00	\$30,725.00	\$30,725.00	\$27,805.00	\$27,805.00
7	DI Fittings, Wastewater (Non-Compact)	Б	19,000	\$6.00	\$114,000.00	\$6.20	\$117,800.00	\$3.50	\$66,500.00	\$6.80	\$129,200.00	\$4.20	\$79,800.00
œ	Connect to Exist. Force Main	ΕA	2	\$31,000.00	\$62,000.00	\$3,000.00	\$6,000.00	\$7,000.00	\$14,000.00	\$4,840.00	\$9,680.00	\$2,844.00	\$5,688.00
9	Traffic Control to FDOT Standards	ıs	<u> </u>	\$31,100.00	\$31,100.00	\$8,250.00	\$8,250.00	\$15,000.00	\$15,000.00	\$4,475.00	\$4,475.00	\$3,325.00	\$3,325.00
10	Sodding	SY	3,200	\$2.43	\$7,776.00	\$2.75	\$8,800.00	\$3.10	\$9,920.00	\$2.60	\$8,320.00	\$4.30	\$13,760.00
- <u>-</u> -	Seeding	SY	3,000	\$0.90	\$2,700.00	\$0.90	\$2,700.00	\$0.60	\$1,800.00	\$0.65	\$1,950.00	\$3.60	\$10,800.00
12	Air Release Valve incl. manhole	ΕA	2	\$12,000.00	\$24,000.00	\$6,358.00	\$12,716.00	\$6,500.00	\$13,000.00	\$5,855.00	\$11,710.00	\$6,000.00	\$12,000.00
13	Asphalt Road Restoration (Base & Resurface)	SY	150	\$63.00	\$9,450.00	\$60.00	\$9,000.00	\$99.00	\$14,850.00	\$65.50	\$9,825.00	\$66.00	\$9,900.00
14	Asphalt Road Restoration (Mill & Resurface)	SY	550	\$14.70	\$8,085.00	\$25.00	\$13,750.00	\$31.50	\$17,325.00	\$33.50	\$18,425.00	\$66.50	\$36,575.00
15	Concrete Sidewalk Replacement	SY	130	\$40.00	\$5,200.00	\$35.00	\$4,550.00	\$36.00	\$4,680.00	\$38.00	\$4,940.00	\$80.00	\$10,400.00
16	Curb & Gutter Replacement	-	300	\$12.00	\$3,600.00	\$23.00	\$6,900.00	\$28.00	\$8,400.00	\$20.00	\$6,000.00	\$49.00	\$14,700.00

	24	23	22	21	20	19	18	17	NO.	
TOTAL PRICE FOR BID "A" - Based on Completion Time of 300 Calendar Days	24" Gate Valve	DISCRETIONARY WORK (USED ONLY WITH COUNTY APPROVAL)	Miscellaneous Work & Clean Up	Mobilization (maximum 10% of total bid)	Silt Fence and Erosion Control	Concrete Driveway Restoration	Miscellaneous Concrete	Remove and Install/Replace Storm Drains	DESCRIPTION	Bid "A" Based on Completion Time of 300 Calendar Days
	EA	LS	rs	LS	LS	SY	СҮ	LS	UNITS	A COLOR DE LA COLO
	1	-	_	_	1	20	30	1	QTY.	
	\$27,250.00		\$38,700.00	\$116,775.00	\$20,000.00	\$50.00	\$150.00	00.000,2\$	BID PRICE PER UNIT	Metro Equipment 9415 SW 72 St. Miami, FL 33173
\$1,167,756.00	\$27,250.00	\$96,920.00	\$38,700.00	\$116,775.00 \$116,775.00	\$20,000.00	\$1,000.00	\$4,500.00	\$5,000.00	TOTAL BID PRICE	Metro Equipment Service 9415 SW 72 St. Miami, FL 33173
	\$17,200.00 \$17,200.00		\$5,000.00	\$54,000.00 \$54,000.00	\$3,500.00	\$100.00	\$150.00	\$12,900.00 \$12,900.00	BID PRICE PER UNIT	TB Landmark Construc 11220 New Berlin Rd. Jacksonville, FL 32226
\$1,234,736.00	\$17,200.00	\$96,920.00	\$5,000.00	\$54,000.00	\$3,500.00	00.000,5\$	\$4,500.00	\$12,900.00	BID PRICE TOTAL BID PER UNIT PRICE	TB Landmark Construction Westra Construction 11220 New Berlin Rd. 1263 12th Ave. E. Jacksonville, FL 32226 Palmetto, FL 34221
	\$16,100.00		\$170,000.00 \$170,000.00	\$80,000.00	\$16,300.00	\$60.00	\$630.00	\$76,000.00	BID PRICE PER UNIT	Westra Construction 1263 12th Ave. E. Palmetto, FL 34221
\$1,365,665.00	\$16,100.00	\$96,920.00	\$170,000.00	00.000,08\$	\$16,300.00	\$1,200.00	\$18,900.00	00.000,87\$	TOTAL BID PRICE	truction /e. E. 34221
	\$18,430.00		\$35,490.00	\$101,325.00	\$4,845.00	\$35.00	\$500.00	\$60,095.00	BID PRICE PER UNIT	E.T. MacKenzie of Flo 6212 44rd Street East Bradenton, FL 34203
\$1,372,875.00	\$18,430.00	\$96,920.00	\$35,490.00	\$101,325.00 \$101,325.00	\$4,845.00	\$700.00	\$15,000.00	\$60,095.00	TOTAL BID PRICE	E.T. MacKenzie of Florida 6212 44rd Street East Bradenton, FL 34203
	\$17,366.50		\$21,477.00	\$113,290.00 \$113,290.00	\$9,900.00	\$110.00	\$610.00	\$42,730.00	BID PRICE PER UNIT	Danella Utility Cons 170 Commerce Rd Boynton Beach, FL
\$1,463,099.00	\$17,366.50	\$96,920.00	\$21,477.00	\$113,290.00	\$9,900.00	\$2,200.00	\$18,300.00	\$42,730.00	TOTAL BID PRICE	Danella Utility Construction 170 Commerce Rd. Boynton Beach, FL 33426

15	14	13	12	11	10	9	&	7	6	5	4	ω	2	_	NO.	
Concrete Sidewalk Replacement	Asphalt Road Restoration (Mill & Resurface)	Asphalt Road Restoration (Base & Resurface)	Air Release Valve incl. manhole	Seeding	Sodding	Traffic Control to FDOT Standards	Connect to Exist. Force Main	DI Fittings, Wastewater (Non-Compact)	24" Tapping Valve & Sleeve	24" Pipe Restraints	24" Fusible PVC Force Main C905 DR 18	24" DI Force Main Class 350 (Direct Bury)	36" Steel Casing, Jack & Bore 0.500" wall	24" PVC Force Main C905 (Direct Bury) DR18	DESCRIPTION	Bid "B" Based on Completion Time of 240 Calendar Days
SY	SY	SY	ΕA	SY	SY	LS.	ΕA	В	EΑ	ΕA	두	뉴	H	ᄕ	UNITS	
130	550	150	2	3,000	3,200	_	2	19,000		50	515	50	480	2,550	QTY.	
\$33.70	\$29.50	\$38.60	\$3,505.00	\$1.20	\$3.20	\$7,450.00	\$3,359.96	\$3.75	\$23,791.67	\$464.53	\$163.89	\$236.90	\$361.63	\$97.62	BID PRICE PER UNIT	Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570
\$4,381.00	\$16,225.00	\$5,790.00	\$7,010.00	\$3,600.00	\$10,240.00	\$7,450.00	\$6,719.92	\$71,250.00	\$23,791.67	\$23,226.50	\$84,403.35	\$11,845.00	\$173,582.40 \$381.00	\$248,931.00 \$112.50	TOTAL BID PRICE	ntracting, Inc. Dity Road 33570
\$31.35	\$17.90	\$38.90	\$5,956.00	\$1.15	\$2.30	\$1,820.00	\$1,965.00	\$4.26	\$22,875.00	\$1,045.00	\$206.75	\$299.00	\$381.00	\$112.50	BID PRICE PER UNIT	Spectrum Underground, 1876-B Barber Rd, #200 Sarasota, FL 34240
\$4,075.50	\$9,845.00	\$5,835.00	\$11,912.00	\$3,450.00	\$7,360.00	\$1,820.00	\$3,930.00	\$80,940.00	\$22,875.00	\$52,250.00	\$106,476.25	\$14,950.00	\$182,880.00	\$286,875.00	TOTAL BID PRICE	Spectrum Underground, In Quality Enterprises USA 1876-B Barber Rd, #200 3984 Mannix Dr., #216 Sarasota, FL 34240 Naples, FL 34114
\$34.50	\$26.45	\$34.50	\$6,337.65	\$0.86	\$2.88	\$16,962.50	\$2,017.10	\$4.66	\$25,058.50	\$575.00	\$166.59	\$277.98	\$419.05	\$108.36	BID PRICE PER UNIT	Quality Enterprises US 3984 Mannix Dr., #216 Naples, FL 34114
\$4,485.00	\$14,547.50	\$5,175.00	\$12,675.30	\$2,580.00	\$9,216.00	\$16,962.50	\$4,034.20	\$88,540.00	\$25,058.50	\$28,750.00	\$85,793.85	\$13,899.00	\$201,144.00	\$276,318.00	TOTAL BID PRICE	Enterprises USA nnix Dr., #216 FL 34114
\$58.30	\$16.20	\$69.30	\$5,276.00	\$1.50	\$4.20	\$1,600.00	\$15,633.00 \$31,266.00	\$2.20	\$28,142.00 \$28,142.00	\$1,143.00	\$177.00	\$296.00	\$497.00	\$103.40	PRICE PER UNIT	Harris-McBurney (2120 North US HV Tampa, FL 33619
\$7,579.00	\$8,910.00	\$10,395.00	\$10,552.00	\$4,500.00	\$13,440.00	\$1,600.00	\$31,266.00	\$41,800.00	\$28,142.00	\$57,150.00	\$91,155.00	\$14,800.00	\$238,560.00	\$263,670.00	TOTAL BID PRICE	Harris-McBurney Compan, Woodruff & Sons, Inc. 2120 North US HWY 301 P.O Box 10127 Bradenton, FL 34282
\$31.33	\$28.60	\$93.46	\$9,029.50	\$1.29	\$2.43	\$2,227.44	\$12,293.10 \$24,586.20	\$3.51	\$33,320.72	\$457.26	\$226.13	\$258.74	\$529.26	\$124.56	PRICE PER UNIT	Woodruff & Sons, Inc P.O Box 10127 Bradenton, FL 34282
\$4,072.90	\$15,730.00	\$14,019.00	\$18,059.00	\$3,870.00	\$7,776.00	\$2,227.44	\$24,586.20	\$66,690.00	\$33,320.72	\$22,863.00	\$116,456.95	\$12,937.00	\$254,044.80	\$317,628.00	TOTAL BID PRICE	Sons, Inc. 127 FL 34282

	24	23	22	21	20	19	18	17	16	ITEM NO.	
TOTAL PRICE FOR BID "B" - Based on Completion Time of 240 Calendar Days	24" Gate Valve	DISCRETIONARY WORK (USED ONLY WITH COUNTY APPROVAL)	Miscellaneous Work & Clean Up	Mobilization (maximum 10% of total bid)	Silt Fence and Erosion Control	Concrete Driveway Restoration	Miscellaneous Concrete	Remove and Install/Replace Storm Drains	Curb & Gutter Replacement	DESCRIPTION	Bid "B" Based on Completion Time of 240 Calendar Days
	EA	LS	LS	LS	LS	SY	CY	LS	두	STINU	
	_	-1	_	1	-1	20	30	1	300	QTY.	
	\$14,772.20 \$14,772.20		\$8,732.00	\$22,792.90	\$8,400.00	\$59.40	\$351.00	\$4,400.00	\$18.20	BID PRICE PER UNIT	Adkins Contracting, Inc. 3516 Gulf City Road Ruskin, FL 33570
\$871,640.94	\$14,772.20	\$96,920.00	\$8,732.00	\$22,792.90	\$8,400.00	\$1,188.00	\$10,530.00	\$4,400.00	\$5,460.00	BID PRICE TOTAL BID PER UNIT PRICE	racting, Inc. ity Road 33570
	\$16,142.00		\$3,300.00	\$52,376.00	\$6,172.00	\$48.60	\$165.00	\$6,600.00	\$18.70	BID PRICE PER UNIT	Spectrum Underground, 1876-B Barber Rd, #200 Sarasota, FL 34240
\$988,515.75	\$16,142.00	\$96,920.00	\$3,300.00	\$52,376.00	\$6,172.00	\$972.00	\$4,950.00	\$6,600.00	\$5,610.00	TOTAL BID PRICE	Spectrum Underground, In Quality Enterprises USA 1876-B Barber Rd, #200 3984 Mannix Dr., #216 Sarasota, FL 34240 Naples, FL 34114
	\$17,848.00		\$5,175.00	\$88,435.00	\$9,775.00	\$57.50	\$230.00	\$115.00	\$17.25	BID PRICE PER UNIT	Quality Enterprises US 3984 Mannix Dr., #216 Naples, FL 34114
\$1,020,671.85	\$17,848.00	00.026'96\$	\$5,175.00	\$88,435.00	\$9,775.00	\$1,150.00	\$6,900.00	\$115.00	\$5,175.00	TOTAL BID PRICE	interprises USA nnix Dr., #216 FL 34114
	\$14,669.00 \$14,669.00		\$15,382.00 \$15,382.00	\$44,395.00 \$44,395.00	\$6,270.00	\$69.30	\$165.00	\$13,200.00 \$13,200.00	\$18.70	PRICE PER UNIT	Harris-McBurney 2120 North US HV Tampa, FL 33619
\$1,026,301.00	\$14,669.00	\$96,920.00	\$15,382.00	\$44,395.00	\$6,270.00	\$1,386.00	\$4,950.00	\$13,200.00	\$5,610.00	TOTAL BID PRICE	Harris-McBurney Company Woodruff & Sons, Inc. 2120 North US HWY 301 P.O Box 10127 Pampa, FL 33619 Bradenton, FL 34282
	\$16,936.90 \$16,936.90		\$50,672.80 \$50,672.80	\$34,830.95 \$34,830.95	\$6,924.08	\$67.59	\$1,129.83	\$13,014.44 \$13,014.44	\$22.93	PRICE PER UNIT	Woodruff & Sons, Ind P.O Box 10127 Bradenton, FL 34282
\$1,175,705.88	\$16,936.90	\$96,920.00	\$50,672.80	\$34,830.95	\$6,924.08	\$1,351.80	\$33,894.90	\$13,014.44	\$6,879.00	TOTAL BID PRICE	Sons, Inc. 127 FL 34282

Keyed and Checked By

5/13/2013

Chris Daley-CPPB, Contract Specialsit

Date

	Bid "B" Based on Completion Time of 240 Calendar Days			Metro Equipment Service 9415 SW 72 St. Miami, FL 33173	nent Service St. 1173	TB Landmark Constru 11220 New Berlin Rd. Jacksonville, FL 3222	TB Landmark Construction 11220 New Berlin Rd. Jacksonville, FL 32226	Westra Construction 1263 12th Ave. E. Palmetto, FL 34221	struction /e. E. 34221	E.T. MacKenzie of Florida 6212 44rd Street East Bradenton, FL 34203	zie of Florida reet East L 34203	Danella Utility Constructio 170 Commerce Rd. Boynton Beach, FL 33426	Danella Utility Construction 170 Commerce Rd. Boynton Beach, FL 33426
NO.	DESCRIPTION	STINU	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
1	24" PVC Force Main C905 (Direct Bury) DR18	두	2,550	\$109.00	\$277,950.00	\$118.00	\$300,900.00	\$130.00	\$331,500.00	No	No Bid	\$201.50	\$513,825.00
2	36" Steel Casing, Jack & Bore 0.500" wall	F	480	\$300.00	\$144,000.00	\$700.00	\$336,000.00	\$460.00	\$220,800.00			\$498.00	\$239,040.00
w	24" DI Force Main Class 350 (Direct Bury)	ᄕ	50	\$200.00	\$10,000.00	\$356.00	\$17,800.00	\$314.00	\$15,700.00			\$245.00	\$12,250.00
4	24" Fusible PVC Force Main C905 DR 18	ᄕ	515	\$200.00	\$103,000.00	\$240.00	\$123,600.00	\$168.00	\$86,520.00			\$226.50	\$116,647.50
5	24" Pipe Restraints	EA	50	\$175.00	\$8,750.00	\$755.00	\$37,750.00	\$875.00	\$43,750.00			\$688.00	\$34,400.00
6	24" Tapping Valve & Sleeve	EA	_	\$46,000.00	\$46,000.00	\$32,200.00	\$32,200.00	\$26,500.00	\$26,500.00			\$27,805.00	\$27,805.00
7	DI Fittings, Wastewater (Non-Compact)	ГВ	19,000	\$6.00	\$114,000.00	\$6.20	\$117,800.00	\$3.50	\$66,500.00			\$4.20	\$79,800.00
8	Connect to Exist. Force Main	EA	2	\$31,000.00	\$62,000.00	\$3,000.00	\$6,000.00	\$7,000.00	\$14,000.00			\$2,844.00	\$5,688.00
9	Traffic Control to FDOT Standards	LS	1	\$31,100.00	\$31,100.00	\$8,250.00	\$8,250.00	\$15,000.00	\$15,000.00			\$3,325.00	\$3,325.00
10	Sodding	SY	3,200	\$2.43	\$7,776.00	\$2.75	\$8,800.00	\$3.10	\$9,920.00			\$4.30	\$13,760.00
11	Seeding	SY	3,000	\$0.90	\$2,700.00	\$0.90	\$2,700.00	\$0.60	\$1,800.00			\$3.60	\$10,800.00
12	Air Release Valve incl. manhole	EA	2	\$12,000.00	\$24,000.00	\$6,358.00	\$12,716.00	\$6,500.00	\$13,000.00			\$6,000.00	\$12,000.00
13	Asphalt Road Restoration (Base & Resurface)	SY	150	\$63.00	\$9,450.00	\$60.00	\$9,000.00	\$99.00	\$14,850.00			\$66.00	\$9,900.00
14	Asphalt Road Restoration (Mill & Resurface)	SY	550	\$14.70	\$8,085.00	\$25.00	\$13,750.00	\$31.50	\$17,325.00			\$66.50	\$36,575.00
15	Concrete Sidewalk Replacement	SY	130	\$40.00	\$5,200.00	\$35.00	\$4,550.00	\$36.00	\$4,680.00			\$80.00	\$10,400.00

	24	23	22	21	20	19	18	17	16	NO.	
TOTAL PRICE FOR BID "B" - Based on Completion Time of 240 Calendar Days	24" Gate Valve	DISCRETIONARY WORK (USED ONLY WITH COUNTY APPROVAL)	Miscellaneous Work & Clean Up	Mobilization (maximum 10% of total bid)	Silt Fence and Erosion Control	Concrete Driveway Restoration	Miscellaneous Concrete	Remove and Install/Replace Storm Drains	Curb & Gutter Replacement	DESCRIPTION	Bid "B" Based on Completion Time of 240 Calendar Days
	EA	LS	LS	LS	LS	SY	СУ	LS	LF	STINU	
	4	-	1	1	1	20	30	1	300	QTY.	
	\$27,250.00		\$38,700.00	\$116,775.00	\$20,000.00	\$50.00	\$150.00	\$5,000.00	\$12.00	BID PRICE PER UNIT	Metro Equipmen 9415 SW 72 St. Miami, FL 33173
\$1,167,756.00	\$27,250.00	\$96,920.00	\$38,700.00	\$116,775.00 \$116,775.00	\$20,000.00	\$1,000.00	\$4,500.00	\$5,000.00	\$3,600.00	TOTAL BID PRICE	Metro Equipment Service 9415 SW 72 St. Miami, FL 33173
	\$17,200.00		\$5,000.00	\$54,000.00	\$3,500.00	\$100.00	\$150.00	\$12,900.00	\$23.00	BID PRICE TOTAL BID PER UNIT PRICE	TB Landmark Construc 11220 New Berlin Rd. Jacksonville, FL 32226
\$1,234,736.00	\$17,200.00	\$96,920.00	\$5,000.00	\$54,000.00	\$3,500.00	\$2,000.00	\$4,500.00	\$12,900.00	\$6,900.00	TOTAL BID PRICE	TB Landmark Construction West 11220 New Berlin Rd. 1263 Jacksonville, FL 32226 Palm
	\$16,100.00		\$170,000.00	\$80,000.00	\$16,300.00	\$60.00	\$630.00	\$76,000.00	\$28.00	BID PRICE PER UNIT	Westra Construction 1263 12th Ave. E. Palmetto, FL 34221
\$1,365,665.00	\$16,100.00	\$96,920.00	,000.00 \$170,000.00	\$80,000.00	\$16,300.00	\$1,200.00	\$18,900.00	\$76,000.00	\$8,400.00	TOTAL BID PRICE	struction ve. E. 34221
										BID PRICE PER UNIT	E.T. MacKenzie of Flo 6212 44rd Street East Bradenton, FL 34203
No Bid		\$96,920.00								TOTAL BID PRICE	E.T. MacKenzie of Florida 6212 44rd Street East Bradenton, FL 34203
	\$17,366.50		\$21,477.00	\$113,290.00 \$113,290.00	\$9,900.00	\$110.00	\$610.00	\$42,730.00	\$49.00	BID PRICE PER UNIT	Danella Utility Construction 170 Commerce Rd. Boynton Beach, FL 33426
\$1,463,099.00	\$17,366.50	\$96,920.00	\$21,477.00	\$113,290.00	\$9,900.00	\$2,200.00	\$18,300.00	\$42,730.00	\$14,700.00	TOTAL BID PRICE	Danella Utility Construction 170 Commerce Rd. Boynton Beach, FL 33426

5/13/2013